

ON-CALL FENCE SERVICES

BID DATE: 06/01/2022

Item #	Description	Qty	UOM	Boston Hill Fence		Premier Fence		Argus Construction Corp		
				Unit Price	Ext Price	Unit Price	Ext Price	Unit Price	Ext Price	
100.1	4-FT Chain Link Fence (Pipe Top Rail)	500	LF	\$30.00	\$15,000.00	\$58.00	\$29,000.00	\$0.00	\$0.00	
100.2	5-FT Chain Link Fence (Pipe Top Rail)	500	LF	\$35.00	\$17,500.00	\$65.00	\$32,500.00	\$0.00	\$0.00	
100.3	6-FT Chain Link Fence (Pipe Top Rail)	500	LF	\$40.00	\$20,000.00	\$78.00	\$39,000.00	\$0.00	\$0.00	
100.4	4-FT Chain Link Gate, with Gate Posts (Pipe Top Rail)	100	LF	\$125.00	\$12,500.00	\$280.00	\$28,000.00	\$0.00	\$0.00	
100.5	5-FT Chain Link Gate, with Gate Posts (Pipe Top Rail)	100	LF	\$135.00	\$13,500.00	\$300.00	\$30,000.00	\$0.00	\$0.00	
100.6	6-FT Chain Link Gate, with Gate Posts (Pipe Top Rail)	100	LF	\$145.00	\$14,500.00	\$350.00	\$35,000.00	\$0.00	\$0.00	
100.7	4-FT Chain Link Fence End and Corner Brace Post	100	EA	\$115.00	\$11,500.00	\$285.00	\$28,500.00	\$0.00	\$0.00	
100.71	4-FT Chain Link Fence End and Corner Post	100	EA	\$115.00	\$11,500.00	\$300.00	\$30,000.00	\$0.00	\$0.00	
100.8	5-FT Chain Link Fence Intermediate Brace Post	100	EA	\$125.00	\$12,500.00	\$325.00	\$32,500.00	\$0.00	\$0.00	
100.81	5-FT Chain Link Fence Intermediate Brace Post	100	EA	\$125.00	\$12,500.00	\$350.00	\$35,000.00	\$0.00	\$0.00	
100.9	6-FT Chain Link Fence End and Corner Brace Post	100	EA	\$135.00	\$13,500.00	\$375.00	\$37,500.00	\$0.00	\$0.00	
100.91	6-FT Chain Link Fence Intermediate Brace Post	100	EA	\$135.00	\$13,500.00	\$400.00	\$40,000.00	\$0.00	\$0.00	
100.1	4-FT Chain Link Fence (Pipe Top Rail) – Vinyl Coated	1200	LF	\$55.00	\$66,000.00	\$65.00	\$78,000.00	\$0.00	\$0.00	
100.11	5-FT Chain Link Fence (Pipe Top Rail) – Vinyl Coated	1800	LF	\$57.00	\$102,600.00	\$72.00	\$129,600.00	\$0.00	\$0.00	
100.12	6-FT Chain Link Fence (Pipe Top Rail) – Vinyl Coated	1200	LF	\$67.00	\$80,400.00	\$84.00	\$100,800.00	\$0.00	\$0.00	

INCOMPLETE BID FORM

ON-CALL FENCE SERVICES

BID DATE: 06/01/2022

Item #	Description	Qty	UOM	Boston Hill Fence		Premier Fence		Argus Construction Corp		
				Unit Price	Ext Price	Unit Price	Ext Price	Unit Price	Ext Price	
	Top Rail) – Vinyl Coated							INCOMPLETE BID FORM		
100.13	4-FT Chain Link Gate, with	200	LF	\$185.00	\$37,000.00	\$300.00	\$60,000.00	\$0.00	\$0.00	
	Gate Posts (Pipe Top Rail) –									
	Vinyl Coated									
100.14	5-FT Chain Link Gate, with	300	LF	\$190.00	\$57,000.00	\$325.00	\$97,500.00	\$0.00	\$0.00	
	Gate Posts (Pipe Top Rail) –									
	Vinyl Coated									
100.15	6-FT Chain Link Gate, with	200	LF	\$195.00	\$39,000.00	\$350.00	\$70,000.00	\$0.00	\$0.00	
	Gate Posts (Pipe Top Rail) –									
	Vinyl Coated									
100.16	4-FT Chain Link Fence End	100	EA	\$200.00	\$20,000.00	\$300.00	\$30,000.00	\$0.00	\$0.00	
	and Corner Brace Post – Vinyl									
100.71	4-FT Chain Link Fence	100	EA	\$200.00	\$20,000.00	\$320.00	\$32,000.00	\$0.00	\$0.00	
	Intermediate Brace Post –									
	Vinyl Coated									
100.8	5-FT Chain Link Fence End	100	EA	\$225.00	\$22,500.00	\$330.00	\$33,000.00	\$0.00	\$0.00	
	and Corner Brace Post – Vinyl									
	Coated									
100.81	5-FT Chain Link Fence	300	EA	\$225.00	\$67,500.00	\$350.00	\$105,000.00	\$0.00	\$0.00	
	Intermediate Brace Post –									
	Vinyl Coated									
100.9	6-FT Chain Link Fence End	100	EA	\$235.00	\$23,500.00	\$375.00	\$37,500.00	\$0.00	\$0.00	
	and Corner Brace Post – Vinyl									
	Coated									
100.91	6-FT Chain Link Fence	100	EA	\$235.00	\$23,500.00	\$400.00	\$40,000.00	\$0.00	\$0.00	
	Intermediate Brace Post –									
	Vinyl Coated									
101	8-FT Chain Link Fence (pipe top rail)	300	LF	\$55.00	\$16,500.00	\$100.00	\$30,000.00	\$100.00	\$30,000.00	
102	8-FT Chain Link Fence with Gate Post (pipe top rail)	100	LF	\$160.00	\$16,000.00	\$350.00	\$35,000.00	\$180.00	\$18,000.00	

ON-CALL FENCE SERVICES

BID DATE: 06/01/2022

Item #	Description	Qty	UOM	Boston Hill Fence		Premier Fence		Argus Construction Corp		
				Unit Price	Ext Price	Unit Price	Ext Price	Unit Price	Ext Price	
103	8-FT Chain Link Fence End and Corner Brace Post	100	LF	\$155.00	\$15,500.00	\$400.00	\$40,000.00	\$180.00	\$18,000.00	
104	8-FT Chain Link Fence Intermediate Brace Post	100	LF	\$150.00	\$15,000.00	\$425.00	\$42,500.00	\$180.00	\$18,000.00	
105	8-FT Chain Link Fence Pipe Top Rail - Vinyl Coated	300	LF	\$65.00	\$19,500.00	\$110.00	\$33,000.00	\$125.00	\$37,500.00	
106	8-FT Chain Link Gate Post (pipe top rail) vinyl coated	100	LF	\$200.00	\$20,000.00	\$375.00	\$37,500.00	\$195.00	\$19,500.00	
107	8-FT Chain Link Fence End and Corner brace post Vinyl coated	100	LF	\$245.00	\$24,500.00	\$400.00	\$40,000.00	\$195.00	\$19,500.00	
108	8-FT Chain Link Fence Intermediate Brace Post Vinyl coated	100	LF	\$245.00	\$24,500.00	\$425.00	\$42,500.00	\$195.00	\$19,500.00	
110	8-FT Privacy Screen shell made of knitted HDPE	500	LF	\$3.00	\$1,500.00	\$8.00	\$4,000.00	\$25.00	\$12,500.00	
665	Chain Link Fence Removed and Stacked	300	FT	\$5.00	\$1,500.00	\$10.00	\$3,000.00	\$0.00	\$0.00	
666	Chain Link Fence Removed and Reset	300	FT	\$25.00	\$7,500.00	\$55.00	\$16,500.00	\$0.00	\$0.00	
667	Chain Link Fence Gate with Gate Posts Removed and Stacked	100	EA	\$5.00	\$500.00	\$500.00	\$50,000.00	\$0.00	\$0.00	
668	Chain Link Fence Gate with Gate Posts Removed and Reset	100	EA	\$50.00	\$5,000.00	\$1,500.00	\$150,000.00	\$0.00	\$0.00	
669	Fence Removed and Stacked	300	FT	\$5.00	\$1,500.00	\$15.00	\$4,500.00	\$0.00	\$0.00	
670	Fence Removed and Reset	300	FT	\$25.00	\$7,500.00	\$65.00	\$19,500.00	\$0.00	\$0.00	
671	Fence Gate and Gate Posts Removed and Stacked	100	EA	\$10.00	\$1,000.00	\$750.00	\$75,000.00	\$0.00	\$0.00	

ON-CALL FENCE SERVICES

BID DATE: 06/01/2022

				Boston Hill Fence		Premier Fence		Argus Construction Corp		
Item #	Description	Qty	UOM	Unit Price	Ext Price	Unit Price	Ext Price	Unit Price	Ext Price	
672	Fence Gate and Gate Posts	100	EA	\$50.00	\$5,000.00	\$1,750.00	\$175,000.00	\$0.00	\$0.00	
	Removed and Reset									
673	Fence Removed and	4000	FT	\$7.00	\$28,000.00	\$8.00	\$32,000.00	\$0.00	\$0.00	
	Discarded									
674	Fence Gate and Gate Posts	500	EA	\$7.00	\$3,500.00	\$400.00	\$200,000.00	\$0.00	\$0.00	
	Removed and Discarded									
	TOTAL BID PRICE				\$941,000.00		\$2,240,400.00		\$192,500.00	
	YEAR 1 PRICING		0%		\$941,000.00	0%	\$2,240,400.00	0%	\$192,500.00	
	YEAR 2 PRICING		4%		\$978,640.00	1%	\$2,263,924.20	20%	\$231,000.00	
	YEAR 3 PRICING		4%		\$1,017,785.60	1%	\$2,287,695.40	30%	\$300,300.00	
	GRAND TOTAL BID PRICE				\$3,878,425.60		\$6,792,019.60		\$723,800.00	

INCOMPLETE BID FORM